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L.O. To answer retrieval questions based on what I have just read. 

SC1: I can look back to the text and re-read the relevant section. 

SC2: I can find the answer to the question and say/write the answer. 

SC3: I can point to where it says the answer in the text. 

Challenge: I can write the quote from the text which tells me the answer, using quotation marks. 

 

1.)  Write down three words which describe the farmers. (Page 1) 

2.) What did Boggis look like? (Page 2) 

3.) What did Bunce look like? (Page 2) 

4.) What did Bean look like? (Page 3) 

5.) How was Bean different to Boggis and Bunce? (pages 2-3) 

6.)  Find and copy two words from the song the children would sing which shows that the farmers were 

unkind (page 3) 


